Bl. AuToTEC QUICK-CHANGE"

Interface plate for robot flange\
4XM3 ((holes for seal plate) =

Robot flange =
Utility pneumatic ports 8§xXM5 I;\_/ -5

C-20D

' Lock pneumatic port MS Bolt holes Interface plate
' Unlock’ pneumatic port M5 (furnished by user)
0 T
Pl N A
= = T L_ . . -~ <
AE8HA] ¢l Eo] S2+= W4 (lock without touching) = ok 5 203 950H] Y
ZF SXEAIOf| QO{A OFAE{Z3|0|E(Master Plate)2t & Z30|E(Tool - 4 equidistant ] Bo}ﬁ holes location A (mm) Use of seal plate
Plate)S TE5IX| Q1 B 22l WA R YIX| A2 B4 2X64HT Dok PCD53 e TREEEE A Unnecessary
Above The O-1ingik 94341 5 L5t Necessazy

Master plate
Sea 7 AH 2 PR @A) cerme
W] #] U & (fail-safe locking mechanism)

BLAtS| EESH &H/E HFLIZ2 0l0] ¥ 3F0| ST
O|E(Master Plate)?t £ Z2|0|E(Tool Plate)?} £2|=|X| &=

959 Seal plate
| | \/ ( preassembled before shipment )

$60h7 (O-ring

TM_‘HT ~(ASH68E03 1)
TENVENY N7\

S
18 7.3

RENSEL ~
........ " -
TIHA! OFMEFx|(LtEHEER] 71=)S 7}K| T Q1L C) = ° Master plate
714 QERERI(HSIER| 715)E THNIT YU e ot tesmens o o 2 oior plate
°
—1 ~F
o
[ = Tool plate
—20D-T-DAPA
Tool pl ‘ 490 \J&Elecmical signal contact blacks _{GC-70D-T-DAPA)
ool p ate D-sub 3Ax15 contacts ( female receptacle )

(QC-20D-T-DAPA)

40

4XM6 Dp11 PCDE3
4 equidistant

#6H7 Dp10 PCD63

Master plate Attachments

+4 bolts (M4 X 30)
+1 locating pin
l % Seal plate, O-ring and screws

are pre-assembled.

@Four bolts (Mix30mm) and one locating pin (MSY4-15)
are supplied with the Master plate

@The four bolts extend B 3mm above the Master plate (when seal plate attached ).
(Model:QC~20D-DAPA )

LT AH) 00k¢
IreEE(EAGE) 196N (20kg) DXPA HIIMS None N
QIX| X3 e +0.015mm ZI|g nE M5 %8 g
- N — AlS =2 =
EA454 mdE | Berdngdrecton (T, Ty) | 113.6N'm (1,160kgf-cm) DXPB HIME None = MU= §lS s
Twisting direction (Tz) | 156.8N-m (1,600kgfcm) 27| ZE M5x 12 '
HZ (371 0.49 MPaAl) x 1 2,059N (210kgf) DAPA HI|AS sAx5 -
- A X
T {ﬂ"d U205 2 Max3A DC50V (D= HUE) %2
a3 77 AdIOlH|A 2 HR
29I Rl (HZ Al ©90x H45.4mm & 3J|Y ZE M58 e 4
Qolipidic 9 2 (D-ME 7{4lE) %2
=2 W AYZF Ball-locking mechanism EgN DXPA DXPB
g3 Kot 0.39~0.68MPa_(4~7kgf/cm?) Z|o RE M5x 12 | ZI|YLE M58 ZIIYZE M5X12 -
sgec « sTHel 0~50'C. 35~90% (Z28L) DBPA HMIAE SAxa0 !
X O
Max3A DC50V . 5
REHrA (D-ME HUE]) x2
Z7|¢ BE M5x8 e 7
= H7|IME .
(Type) E g
IECTETE QC-20D -M- LD e = <
(Type)
rrrcEl QC-20D -T- [0 DAPA DAPB DBPA gz
IS g — 3Ax15 D-ME 15 Contact 3Ax15 D-ME 15 Contact 3Ax30 D-A{E 15 Contact =
DXPA | H71415 gig JIQEE M5x8
Fo|AS ofo ;_7 S E; ( JA 2|4E{2(Female Receptacle))*? ( JA 2|2E{2(Female Receptacle))*? ( JA 2|ME{Z2(Female Receptacle))*? 5
DARBY| W7 1M% 98 S7IURE M5x12 BIIYRE M5%8 S7IYRE MI5x12 B7IYRE M5x8
DAPA H7|ME 3Ax15%2 S7|UELE M5%8 *H7|MS HUYEDTYIEL DDK, 17JE-23 150-02 (DBA) -CG,
DAPB | H7|4Z 3Ax15%2 S7|UEE M5X12 EE S5 HES FHI5H0] FHAIR.
DBPA | Z7[15 3Ax30%2 BIIYEE M5x8
(Note) ¥EE2| THZE Al, Master Z2/0|E Z0j= DISN-ME, Tool Z[0|E 0= DISN-TE F2510) FHAIL. ‘ SHIE S SH0 s = AU 2015 oto] FHAL. ‘ a

x| 22 YAE Hs YUCE SYsts YU 22IE o17| 8t Z1S 0015 SFot7iLE SER 2I510] 7|7 20| 2YEIX| Y= 8 Quick Changer?| ZEH0| RXIELIC
%2, 17JE-23150-02(D8A)-CG 221 Ei= 10|l 483tz MES EHI5H0] FHAIL. (RoHS D-sub E2{1) c12

%QC-20DE 7IE QC-20A, B 12|21 C A|

[T



